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Question Number : 1 Question Id : 7715134376 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofafed gfierul o fogd gr Selifad uided (o) IR dRdidd Uded (s) & & @
Tay fear w8, Wl dgeE 9P (c) gl

The relationship between engineering stress (a) and true stress (s) is given by which of the
following equations where logarithmic strain is (g):

(@) s=aexp(e)
(b) s=aexp(-e)
(c) s=aexp(etl)
(d) s=oexp(e-1)

Options :

1.a

2.b

3.c

4.d

Question Number : 1 Question Id : 7715134376 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofafad gdiewl § fbgd gr Soliad Ulded (o) IR dRdidd Ulded (s) & & d
Gay fear w8, Wl dgeE APl (c) g

The relationship between engineering stress (o) and true stress (s) is given by which of the
following equations where logarithmic strain is (€):

) s=aexp(e)
) s=0exp(-g)
) s=aexp(etl)
) s=oexp(el)
Options :

1.a

2.b

3.c

4.d

Question Number : 2 Question Id : 7715134377 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



HR R DI o7 G &l 9l 5, d I9DI AP GlE S T Bidl o2

If the speed of a fluid doubles, what happens to its dynamic pressure?

(a) 9¥ g Wdl §/Remains the same
(b) ST Bl WK g/Doubles
(c) =R TAT 8 &M@l 8/Quadruples
(d) mer gl Srar &/Halves
Options :
1.a
2.b
3.¢
4.d

Question Number : 2 Question Id : 7715134377 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R @A BT &1 G & odl g, d I9D| Madg & ®I ol Bidl 87

If the speed of a fluid doubles, what happens to its dynamic pressure?

(@) 3¥ g W §/Remains the same
(b) T § Wl g/Doubles
(c) =R THT & @@l 8/Quadruples
(d) smem g WAl §/Halves
Options :
1.a
2.b
3.C

4.d

Question Number : 3 Question Id : 7715134378 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



TF 3.5kW, 5 diex fagga oa aue & 2 fFe & U o7 far o €1 S/ @1 a9 &we
42kI/kgK Bl 98 9F1 9N fob URT fagqd Sl ofd &I diiud & § @ g, &l
U # o & auH ¥ gig ... Bl

A 3.5 kW, 5 litre electrical water heater is switched on for 2 minutes. The Heat capacity
(Cp) of water is 4.2 kI/kg K. Assuming all the electrical energy has gone into heating the
water, increase of the water temperature in degree centigrade is;

(a) 15
(b) 25
(c) 30
(d) 20

Options :

1.a

2.b

3.c

4.d

Question Number : 3 Question Id : 7715134378 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U 3.5kW, 5 ¢fieX faggd od due @I 2 fiFe & fau o9 four o €1 o & dig &m

42kV/kgK §1 98 9F1 9 fo GRT fagyd Sl o @ aiftd & o oman g, fel

I<te o 9d @f auaH § dfe ... B

A 3.5 kW, 5 litre electrical water heater is switched on for 2 minutes. The Heat capacity

(Cp) of water is 4.2 kI/kg K. Assuming all the electrical energy has gone into heating the

water, increase of the water temperature in degree centigrade is;

(a) 15
(b) 25
(c) 30
(d) 20

Options:

1.a

2.b

3.c

4.d

Question Number : 4 Question Id : 7715134379 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Adbe ol H ARl ided &1 IuaRT &4 & & DR .. ... g.

The primary reason to use regenerative cooling in rocket engines is:

(a) @& ¥ Ugd Alca @I Ydaiad &l

To preheat the propellant before combustion
(b) de @ RBR dUAF W gHT FHET S
To ensure the nozzle remains at constant temperature
(c) G & qUl gs @l S fahdar 4 adMl
To protect the combustion chamber and nozzle from thermal failure

(d) Hlcdl & B O @I ggHI

To increase the exhaust velocity of the propellants

Options :
1.a
2.b
3.C
4.d

Question Number : 4 Question Id : 7715134379 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Udbe oAl H AR Dided &1 SUaRT &R &1 T SR .. ... g.

The primary reason to use regenerative cooling in rocket engines is:

(a) BT ¥ Ugd Ale® @I Tdaimid
To preheat the propellant before combustion
(b) de @1 fAR dUHH W gFT gREd &
To ensure the nozzle remains at constant temperature
(c) G&d ®& aUl ds & HWIY fahdaar ¥ am
To protect the combustion chamber and nozzle from thermal failure

(d) Aesl & FHHT a1 B e

To increase the exhaust velocity of the propellants

Options :
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715134380 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



@R ya® ¥ fo7 sgepdoiiadal & Uy o™ ds o

In an adiabatic nozzle with no irreversibility in steady-state flow:

(a) 7fa & gfg & @y oof oo & gfs e &

Enthalpy increases as velocity increases.
(b) fd # 9fd & 9y Uof S H Dkl Bl @

Enthalpy decreases as velocity increases.

(c) U<l &I GR&VI/Entropy is conserved.
(d) b 3R ¢, GHi/Bothband ¢

Options :

1.a

2.b

3.C

4.d

Question Number : 5 Question Id : 7715134380 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

f@r yae ¥ a1 seraviiodr & 91 &Y ds o

In an adiabatic nozzle with no irreversibility in steady-state flow:

(@) "fa ¥ gfe & iy quf 3o & gfg gidt §
Enthalpy increases as velocity increases.
(b) Tfa & gfg & @y oof S § St Bt ®

Enthalpy decreases as velocity increases.

(c) TU=IUl &1 TREU/Entropy is conserved.
(d) b 3R ¢, GH/Bothbandc

Options :

1.a

2.b

3.¢C

4.d

Question Number : 6 Question Id : 7715134381 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fr & 6T T R, T-WA Bife FM-5aAH Yo # P, sinw t WEHE g0 Il
oIl 81 20 Hz (w = 20 ) &1 JdoH gy Y §omH | & &l g1 k= 8m?x10°N/m,

m = 500 fBaTm, K = 80m2x10° N/mauiM = 5000 e &l oW some @
HfemaA T ..... $ T Bl

A sinusoidal force Py sin w t is applied to a two-degree-of-freedom spring-mass system as
shown in figure. The excitation frequency is 20 Hz (w = 20 ) acts on the top mass. Let k=
8m’x10°N/m, m = 500kg K = 80m’x10° N/mand M = 5000kg.  Maximum
displacement of the top mass equals.

r2

(a) & o gomH o facpa dwA Rl g, Y9
zero since the top mass does not vibrate at all

(b) 20mP,/k

(c) TG & BRU HURME/Infinite due to resonance

(d) 400m?Py(K +k)

Options :
1.a
2.b
3.c
4.d

Question Number : 6 Question Id : 7715134381 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fr & 6T T R, T-WA Bife FM-5aAH Yo # P, sinw t WEHE g0 Il
oIl 81 20 Hz (w = 20 ) &1 JdoH gy Y §omH | & &l g1 k= 8m?x10°N/m,

m = 500 fBaTm, K = 80m2x10° N/mauiM = 5000 e &l oW some @
HfemaA T ..... $ T Bl

A sinusoidal force Py sin w t is applied to a two-degree-of-freedom spring-mass system as
shown in figure. The excitation frequency is 20 Hz (w = 20 ) acts on the top mass. Let k=
8m’x10°N/m, m = 500kg K = 80m’x10° N/mand M = 5000kg.  Maximum
displacement of the top mass equals.

r2

(a) & o gomH o facpa dwA Rl g, Y9
zero since the top mass does not vibrate at all

(b) 20mP,/k

(c) TG & BRU HURME/Infinite due to resonance

(d) 400m?Py(K +k)

Options :
1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134382 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



OB 6 WY Y 0D fdRudel R I dobd gia an i oH |, IReid fGwi
1 gl g9 I, Fufefed 9 e & uumReE g

While applying the theory of pure bending to a beam subjected to shear forces, which of
the following assumptions can result in largest error in the computed displacements?

(a) URY ¥ feugs T g/ The beam is initially straight

(b) fd&uw Bfer 8/Deflections are small

(c) oo & U™ @e W d% ¥ Ugd YU qUl WU §, €% & GRH UK
qUl Y9 e/ Transverse sections of the beam which are plane and normal
before bending remain plane and normal during bending

(d) foelie TRuge &1 ol B, S99 3 famel ®1 e 92t &

The radius of curvature of the deformed beam is large compared to its other

dimensions
Options:
1.a
2.b
3.C
4.d

Question Number : 7 Question Id : 7715134382 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

HUEU &6 Y T D fbRudel R g dod gia a6 oF |, IReiid G
1 gl g9 I, Fufefed 9 e & uumReE g

While applying the theory of pure bending to a beam subjected to shear forces, which of
the following assumptions can result in largest error in the computed displacements?

(a) URY ¥ feugs T g/ The beam is initially straight

(b) fd&uw Bfer 8/Deflections are small

(c) oo & U™ @e W d% ¥ Ugd YU qUl WU §, €% & GRH UK
qUl Y9 e/ Transverse sections of the beam which are plane and normal
before bending remain plane and normal during bending

(d) foelie TRuge &1 ol B, S99 3 famel ®1 e 92t &

The radius of curvature of the deformed beam is large compared to its other

dimensions
Options :
1.a
2.b
3.cC

4.d



Question Number : 8 Question Id : 7715134383 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tl & foe WTeRl AR W ST T JHaT war & 67

What are the commonly used materials for strain gauges?

(a) fda aurdialNickel and copper
(b) 3 qUT I Nickel and gold
(c) v HehmaNickel cadmium
(d) didd eig/Brass iron

Options:
1.a
2.b
3.c
4.d

Question Number : 8 Question Id : 7715134383 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o fomTdl & feT TreRl AR W SUrT U SHaT wer & 67

What are the commonly used materials for strain gauges?

) o qurdiaNickel and copper
) Fdd U g Nickel and gold
(c) ModdetmaNickel cadmium
) Uide dig/Brass iron

Options :
1.a
2.b
3.c
4.d

Question Number : 9 Question Id : 7715134384 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



f o U U ER, THUR FoH AR 9 g § R Biofi id & wy g
B UG PR &5 & U dg @ darg i o B e @ e L j
For a cantilever beam with uniform mass distribution and rotating at a constant angular

velocity about an axis as shown in figure, the variation of axial force along the length of
the beam has a distribution

a) @d/linear
) YT/ cubic

(

(

(c) T=HIIG/quadratic

(d) Gﬂﬁfﬁ 1 fﬁﬁ ul 8/ None of the above

Options :
1.a
2.b
3.cC
4.d

Question Number : 9 Question Id : 7715134384 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



f o U U ER, THUR FoH AR 9 g § R Biofi id & wy g
B UG PR &5 & U dg @ darg i o B e @ e L j
For a cantilever beam with uniform mass distribution and rotating at a constant angular

velocity about an axis as shown in figure, the variation of axial force along the length of
the beam has a distribution

(a) @/ linear

(b) TG/ cubic

(c) T=HIIG/quadratic

(d) Gﬂﬁfﬁ 1 fﬁﬁ ul 8/ None of the above

Options :
1.a
2.b
3.cC
4.d

Question Number : 10 Question Id : 7715134385 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

RaE TR U6 3 & R seEd-anerd g3 4 06 & entehe e ¥ ke

g e ... 1 @@ (M=1) g 9 gl

During the isentropic flow of gases in a converging-diverging nozzle meant for achieving

supersonic flow, the Mach number becomes unity (M=1) at:

a) ®a/Throat
b) @M/ Exit
)
)

— — — —

¢) Ged ®&/Combustion chamber
d Q:Ia'd';’lnlet

Options :

1.a

2.b

3.c

4.d



Question Number : 10 Question Id : 7715134385 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WEHS JaR T & & a0 ER-30a 4 1 & aui=iis W & oRH

g e ... 1 1@ (M=1) § oIl ¢l

During the isentropic flow of gases in a converging-diverging nozzle meant for achieving
supersonic flow, the Mach number becomes unity (M=1) at:

(a) ®&/Throat
(b) PM/Exit
(c) g7 ®&/Combustion chamber
(d) Zcie/Inlet
Options :
1.a
2.b
3.c
4.d

Question Number : 11 Question Id : 7715134386 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

@ 9 & b’ $I6 ¥ @ ddc B R IW ¥ 4 3 AR RAm 9 g1 3R an

& U TaRH 06 0.90 8, df dia UeT R fhal $ar | I

A ball is dropped vertically onto a concrete floor from height “h’. If the coefficient of

restitution is 0.90 for the action, to what height will the ball rise on rebound?

(a) h
(b) 0.90h
(c) 0.8lh
(d) 0.5h

Options :

1.a

2.b

3.c

4.d

Question Number : 11 Question Id : 7715134386 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T §d b HI5 ¥ W@ Fpie BY W FW ¥ 44 31 AR R i g1 R a1
@ foU ygaRH UG 0.90 7, df §d UfdeT R fodd Sag ® I

A ball is dropped vertically onto a concrete floor from height ‘h’. If the coefficient of
restitution is 0.90 for the action, to what height will the ball rise on rebound?

(@) h
(b) 090h
(c) 0.81h
(d) 0.5h
Options :
1.a
2.b

3.c

4.d

Question Number : 12 Question Id : 7715134387 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T AGH gl U T, forddt 4iferet U1 o6 Tl ST SMac St U o Il & Ifg qf wU
Y Iap iy ufded &l e JH, el 1 RG]

A structure subjected to cyclic loading can withstand an infinite number of cycles without

any fatigue failure if the maximum value of the completely reversed stress is below the
of the material.

(a) A TeclFlexural Rigidity (b) T&+ iHEndurance Limit
(c) T 9Hiedl Fracture Toughness (d) TGl AU Rigidity Modulus
Options :
1.a
2.b

3.cC
4.d

Question Number : 12 Question Id : 7715134387 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



] GH Bl U G, forddt 4iferet T o T oI Siad Temd W o ol & 4G Qi &
Y It Ufded @l e AF, TeR @1 TFAgl

A structure subjected to cyclic loading can withstand an infinite number of cycles without
any fatigue failure if the maximum value of the completely reversed stress is below the
of the material.

(a) AT EgalFlexural Rigidity (b) g9 Y Endurance Limit
(c) faumTviadFracture Toughness (d) TGl A/ Rigidity Modulus

Options :
1.a
2.b
3.c
4.d

Question Number : 13 Question Id : 7715134388 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
@A Yae H Uik o9, Wiie 7@ & THE &9 gidl 8?2

When is the stagnation pressure equal to the static pressure in a fluid flow?

(@) w9 Wd fRW RUld 7 gkl §/When fluid is at rest

(b) HfffBaH o & fdg WR/At the point of maximum velocity
(c) S TN H/In a vena contracta

(d) Ul fasfd welel Wdre H/In a fully developed turbulent flow

Options :
1.a
2.b
3.C
4.d

Question Number : 13 Question Id : 7715134388 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
oXd ydrg d uicRiy <1, |fde g9 & THH &9 gldl 8?

When is the stagnation pressure equal to the static pressure in a fluid flow?

(@) w9 Wa fW Rufd 7 8l 8/ When fluid is at rest

(b) YDA 97 & fdg /At the point of maximum velocity
(c) W TIE H/In a vena contracta

(d) uol fasfid w&e Ware H/In a fully developed turbulent flow

Options :
1.a



2.b
3.¢C
4.d

Question Number : 14 Question Id : 7715134389 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TiEE Yed! & U o Wgad U ¥ Wi WiRlY, I o U1 4ifd 90 @1 Aa%Eddl
2, 3 T B WeH o & v 5w g wera wipan fogw w0 @ gt g

For automotive components that need a combination of wear resistance, high hardness, and

fatigue strength. Which surface hardening process is especially effective for imparting
these properties?

(a) DI/ Carburizing (b) TFCESIHV/Nitriding
(c) WRUR £¢idRur/Induction hardening (d) GOESIHI/ Cyaniding

Options :
1.a
2.b
3.C
4.d

Question Number : 14 Question Id : 7715134389 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e vedi & U foe Uged &0 ¥ v wiRly, S o U Hifd 99 @ Sawgddl
2, 3 T @ TeH o ¥ fo o giin dora wipd foRw w @ widt g

For automotive components that need a combination of wear resistance, high hardness, and

fatigue strength. Which surface hardening process is especially effective for imparting
these properties?

(a) PN/ Carburizing (b) EETSSIH/Nitriding
(c) WUl £¢idRur/Induction hardening (d) YEAESIHI/ Cyaniding

Options:
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715134390 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



AfR-EH o § @d WdE § 947 & U W6 & fau &9 T ¥ ufdfifda
fohar ol 87

The conservation of momentum in a fluid flow is represented by which term in the Navier-
Stokes equation?

(a) p(v.V)v (b) -Vp
(c) pAv (d) (a) 3R (b) GHI/Both (a) and (b)

Options :
1.a
2.b
3.C
4.d

Question Number : 15 Question Id : 7715134390 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AfgmR-Ew THow § @A wWe # 99 B U @ $ AU 59 Tk ¥ vl
o ST §?

The conservation of momentum in a fluid flow is represented by which term in the Navier-
Stokes equation?

(a) p(v.Vyv (b) -Vp
(c) pAv (d) (a) ¥R (b) GHI/Both (a) and (b)

Options :
1.a
2.b
3.c
4.d

Question Number : 16 Question Id : 7715134391 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



ngWP-VﬁﬂﬁﬁwﬁﬂﬂﬁﬁﬁAﬁﬂ?ﬁﬂT%ﬂiﬂﬁWﬂaﬁﬁﬁﬁwm

If a thermodynamic cycle on a P-V diagram encloses an area A, and the cycle is traversed
clockwise, then:

(a) To%eH gn fou 1 dedd, A & HEURS R
The net work done by the system is proportional to A.
(b) Rren gRI 601 1 dedd, A & HeHAUIGE g
The net work done on the system is inversely proportional to A.
(c) U [YGd: YH-3UGHS i/ The cycle is purely isochoric.
(d) 9% At uehH @1 WialfEa &l &

The cycle represents an isothermal process.

Options :
1.a
2.b
3.C
4.d

Question Number : 16 Question Id : 7715134391 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gmmwp-vﬁaﬁwmﬁaﬁaaAﬁmam%amMﬁﬁﬁwm

If a thermodynamic cycle on a P-V diagram encloses an area A, and the cycle is traversed
clockwise, then:

(a) To%eH grI a1 dedd, A & HEUINS R
The net work done by the system is proportional to A.
(b) RreH gRI 601 1 dead, A & HHANUIIS gl
The net work done on the system is inversely proportional to A.
(c) U TGd: FH-HMUdHD B/ The cycle is purely isochoric.
(d) 9% oAt UebH @1 WiaRfa @Rl &

The cycle represents an isothermal process.

Options :
1.a
2.b
3.C
4.d

Question Number : 17 Question Id : 7715134392 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



frafigd H, daM gRI 344 U 4l HU 9d DI F1 UHIdd SRl o2

Which of the following affects the drag force experienced by an aircraft?

(a) UWPHR/Wing shape (b) 9EH @I Tfd/ Aircraft speed
(c) dI HYAdI/Air density (d) G’Jﬁﬂﬂ g4/ All of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 17 Question Id : 7715134392 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFafciad o, 9gaF gRI MG U AT HU 99 DI F UHIidd BT 82

Which of the following affects the drag force experienced by an aircraft?

(a) UEIPR/Wing shape (b) IEH DT TIfd/ Aircraft speed
(c) dI HYAdI/Air density (d) G’E@ﬂﬂ T4t/ All of the above
Options :
1.a
2.b
3.c
4.d

Question Number : 18 Question Id : 7715134393 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

I eade o R HHE .. ... FRI 949 gl

In space with zero gravity, heat transfer is possible by

(a) d@raq dYl HdgH/Conduction & convection
(b) ¥aga qur fafdrul/Convection & radiation
(c) = aur faféu/Conduction & radiation
(d) daa fafdRu/Radiation only

Options :
1.a
2.b
3.C
4.d



Question Number : 18 Question Id : 7715134393 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T TR@Edld S R SR .. ... gRI Tvd gl

In space with zero gravity, heat transfer is possible by

(a) d@raq dYr Hagd/Conduction & convection
(b) ¥Haga qur fafdrul/Convection & radiation
(c) = aur faféu/Conduction & radiation
(d) da fafdRu/Radiation only

Options :
1.a
2.b
3.C
4.d

Question Number : 19 Question Id : 7715134394 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fofifed fa § WH e toa-WA St RBiT-5H-Smule Jorel & IR @
DI QU DI GUA T g1 YuIeh H e mr yRie ORI up T foHE 9y
t=0 1 RIS (oI &1 7R, SaHfed Wplad g aul WUl &1 3ased 3R,

oz (log,0.778 =-0.251 and log, 0.686=-0.377)

The time history trace of the displacement of a viscous damped single-degree-of-freedom
spring-mass-dashpot system is shown in the following figure. The system is given an initial
displacement up and then released at time t=0. The magnitude of initial displacement, the
damped natural frequency and the damping ratio of the system are, respectively.

(log,0.778 = 0251 and log, 0.686=-0.377)

1
0.8 \ 0.120, 0.686
- 0.244,0.383]
o 0.4
g
a 0.2
&
£ 0
5 0.2
2
o 04
(a]
-0.6
0.8
-1
0 0.05 0.1 0.15 0.2 0.25
Time (seconds)
(a) @ =50 Hz dl/and & =0.02 (b) @; =25Hzdl/and & =0.04
(c) @; =25HzMI/and & =04 (d) @; =25Hzdul/and & =0.02
Options:
1.a
2.b
3.c
4.d

Question Number : 19 Question Id : 7715134394 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fofifed fa § WH e toa-WA St RBiT-5H-Smule Jorel & IR @
DI QU DI GUA T g1 YuIeh H e mr yRie ORI up T foHE 9y
t=0 1 RIS (oI &1 7R, SaHfed Wplad g aul WUl &1 3ased 3R,

oz (log,0.778 =-0.251 and log, 0.686=-0.377)

The time history trace of the displacement of a viscous damped single-degree-of-freedom
spring-mass-dashpot system is shown in the following figure. The system is given an initial
displacement up and then released at time t=0. The magnitude of initial displacement, the
damped natural frequency and the damping ratio of the system are, respectively.

(log,0.778 = 0251 and log, 0.686=-0.377)

1
0.8 \ 0.120, 0.686
- 0.244,0.383]
o 0.4
g
a 0.2
&
£ 0
5 0.2
2
o 04
(a]
-0.6
0.8
-1
0 0.05 0.1 0.15 0.2 0.25
Time (seconds)
(a) @ =50 Hz dl/and & =0.02 (b) @; =25Hzdl/and & =0.04
(c) @; =25HzMI/and & =04 (d) @; =25Hzdul/and & =0.02
Options:
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715134395 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



YeR-g13ell fbRorgdl & ol | fen-dl GRugel & 3 S & HFEEE T @
it § sfafad wd g1 3 sfafad o L. ... @1 B TGd 7

Equation of motion governing the transverse vibration of Timoshenko beams has
additional terms in comparison to that of Euler-Bernoulli beams. These additional terms
take into account;

(a) fowUGY o™ B @1 iy fawuur qur dod
Axial deformation and bending of the beam cross section
(b) THRUUS YR BIE B & fawyur qu Uiy fowuw
Axial deformation and lateral deformation of the beam cross section
(c) faRUGS SR Blc & eyl fqwun qur guiHl wisa
Shear deformation and rotatory inertia of the beam cross section
(d) fPRUGS ST PIC HT AUEUU fTEU0 qUT Tl

Shear deformation and curvature of the beam cross section

Options :
1.a
2.b
3.cC
4.d

Question Number : 20 Question Id : 7715134395 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TeR-aigel foRudal & qol H feAn-al fdRugel & sy U & e i @

THiER0 H affdivad Td §1 U effafad wd ... ®1 T TEd gl

Equation of motion governing the transverse vibration of Timoshenko beams has

additional terms in comparison to that of Euler-Bernoulli beams. These additional terms
take into account;

(a) fHRUS TRy PIe 1 ef fowuw qur d94

Axial deformation and bending of the beam cross section
(b) TRUGH SrfURy P P ey fawyy qur widlg faweum

Axial deformation and lateral deformation of the beam cross section
(c) THRUIGH 3ffuey Ple Pl SUwUUl fawuw qu Uil 9sa

Shear deformation and rotatory inertia of the beam cross section

(d) fheodd Uy B¢ B HUEYUl fIEu0 qur ashd

Shear deformation and curvature of the beam cross section

Options :
1.a
2.b
3.C
4.d



Question Number : 21 Question Id : 7715134396 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ide W & ‘P'USH & BRU P U8 & o fdg W ufdad S 3@ gidl g1 S 3R P,
aHl @ Nm e § fierad fU o 8 Fefafed v § oF-w w8 8
Let ‘S’ be the stress developed at a point on a body due to a pressure ‘P’ acting on its

surface. Both ‘S’ and ‘P’ are expressed in N/m? units. Which of the following statements
is true?

() ‘PR HET € WEfG S U™ HE
‘P’ is a scalar quantity while ‘S’ is a vector quantity
(b) PR s, T Wiew mWEAE B
Both ‘P’ and ‘S’ are vector quantities
(c) ‘P 3fex AR § Wefd «S’ fgdiu-o0 wlew o §
‘P’ is a scalar quantity while ‘S’ is a second-order tensor quantity
(d) P alR ‘s, fadi-sm e wmm §

Both’ P’ and ‘S’ are second-order tensor quantities

Options :
1.a
2.b
3.C
4.d

Question Number : 21 Question Id : 7715134396 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Idg R €d ‘P'UH & BRU U fUs & 0o fifg W ufdad *S' 3@ gt g1 “S 8k ‘P,
aFl @ NmgFel § sfierad f o 8 Fefafed ov § oF-w T8 82
Let ‘S’ be the stress developed at a point on a body due to a pressure ‘P’ acting on its

surface. Both ‘S’ and ‘P’ are expressed in N/m? units. Which of the following statements
is true?

(a) P 3HfeR AET § W6l S Gl A
‘P’ is a scalar quantity while ‘S’ is a vector quantity
(b) <P 3R ‘s, EHI wiew A &
Both ‘P’ and ‘S’ are vector quantities
(c) ‘P 3fem AEN § e S’ fadu-#9 ufle™ A §
‘P’ is a scalar quantity while ‘S’ is a second-order tensor quantity
(d) PR s, a fdl-wm oiew Aoy &

Both’ P* and ‘S’ are second-order tensor quantities

Options :



1.a
2.b
3.c
4.d

Question Number : 22 Question Id : 7715134397 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Adbe 8 ¥ deedd g 4 RHW JrEw B GHA 99 B g o ...,
In a rocket nozzle, the transition from frozen to shifting equilibrium occurs when:

(a) @R f ¥7 ¥ IOE ¥ 954 a6l §
Reactants have fully converted to products

(b) dUHM FR It & fid RO HHHA TEURY Bl 8
Temperatures fall, allowing reactions to recommence

(c) ¢¢ @§, uash ge & widt @
Nozzle pressure becomes ambient pressure

(d) Fféraar fig wgT ol 3

Stagnation point is reached

Options :
1.a
2.b
3.C
4.d

Question Number : 22 Question Id : 7715134397 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AUdbe de # deydd g 9 RHTR] GrRaRl B YHA a9 Bl § od ...
In a rocket nozzle, the transition from frozen to shifting equilibrium occurs when:

(a) fHR® f ¥7 ¥ IdE | 96d Kl §
Reactants have fully converted to products

(b) UHH fR Wt & R/d RU AHAN FHURY Bl 8
Temperatures fall, allowing reactions to recommence

(c) s ow, uRash q@ & ol §
Nozzle pressure becomes ambient pressure

(d) ffeg fig wga ot §

Stagnation point is reached

Options :
1.a



2.b
3.¢C
4.d

Question Number : 23 Question Id : 7715134398 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Y4l Uided & 9) 1 FEiied § @ 99 8o

Which of the following is true about flow stress?

(a) W4d fdgal @1 ¥@UY/Locus of yield points
(b) R 99 W FHHiPd/Modeled using power law
(c) Videa s oRU wiwes &7 § RR fioll W wof fefia g @

Stress that causes the material to deform at constant strain in the plastic region

(d) Gfﬂiﬁﬁ i/ All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 23 Question Id : 7715134398 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T4l Uided & 9R 1 Fgiiied § ® Od 8

Which of the following is true about flow stress?

(a) W4d fdgal @1 T@IUY/Locus of yield points
(b) WR @A W THigd/Modeled using power law
(c) Wideq fored oRU @i &7 & faR gl W v e aid 8

Stress that causes the material to deform at constant strain in the plastic region

(d) Gﬂiﬁﬁ gHi/All of the above

Options:
1.a
2.b
3.c
4.d

Question Number : 24 Question Id : 7715134399 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



4.0 MPa 3idR@ @9 ¥died &4 &g 1800 iy oY & deHIGR W WA & U
UIR TR @1 Udl W01 & U, YU SN 9 S g § foNidl WiMd Iy 450
MPa Bl (M d & W& R® 1.08)

Find thickness required for 1800 mm diameter cylindrical pressure vessel, which is
required to carry 4.0 MPa internal pressure. The pressure vessel is made of alloy steel
whose vield strength is 450 MPa. (assume factor of safety as 1.0)

(a) 4 e/ mm
(b) 2 fAfeHicR/mm
(c) 8 MfeHiey/mm
(d) 16 fAfeH/ mm

Options :

1.a

2.b

3.C

4.d

Question Number : 24 Question Id : 7715134399 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

4.0 MPa 3idR® @/ ¥dled & 5g 1800 fAfcHIcr M @ STHIGR &§ UA & U

SUfRE Hierg @1 Udl WU &l U, YU SR 8 & gl § forid! WiHd gm 450

MPa g1 (AH o & Q&1 RS 1.08)

Find thickness required for 1800 mm diameter cylindrical pressure vessel, which is

required to carry 4.0 MPa internal pressure. The pressure vessel is made of alloy steel
whose yield strength is 450 MPa. (assume factor of safety as 1.0)

(a) 4 M@feHiet/mm
(b) 2 e/ mm
(c) 8 ffemict/mm
(d) 16 fafcHict/mm

Options :
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134400 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



faqdu & fog =0 & 999 & Uy H faofd sfiefEd $dl 82

Which stage of creep is characterized by a decreasing rate of strain with time?

(a) WS fa9dul/Primary creep
(b) fedia fagdur/Secondary creep
(c) qdig fadu, Tertiary creep
(d) URMY® fagdul/Initial creep

Options :
1.a
2.b
3.C
4.d

Question Number : 25 Question Id : 7715134400 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faqdu & o9 U & 999 & UY SEH fapfa siidiad aXdl 87

Which stage of creep is characterized by a decreasing rate of strain with time?

(a) WyH® faudul/Primary creep
(b) f&dg fagdul/Secondary creep
(c) < a9,/ Tertiary creep
(d) URf® fagdul/Initial creep

Options :
1.a
2.b
3.c
4.d

Question Number : 26 Question Id : 7715134401 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
dg-dU &g RaRd H WUl & did G ... |

In a multi-stage axial turbine, reheat between stages can:

(a) U G&dl YUR Yhdl §/Improve the stage efficiency.
(b) Wad ®I Sigddld 92l Yabdl g/Decrease the blade lifespan.
(c) &I TE 3Uid Uel Udbdl §/Reduce the overall pressure ratio.
(d) TREET & HR-UR SoUHAF Udlg &2 &6l Gdbdl o

Increase mass flow rate through the turbine.

Options:



1.a
2.b
3.c
4.d

Question Number : 26 Question Id : 7715134401 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
95— &g RaRd H Wl & did G L. ... |

In a multi-stage axial turbine, reheat between stages can:

(a) U G&dl YUR Yhdl §/Improve the stage efficiency.
(b) Wad ®I Sigddld 92l Yabdl g/Decrease the blade lifespan.
(c) &I TE 3Uid Uel Udbdl §/Reduce the overall pressure ratio.
(d) TREET & HR-UR SoUHAF Udlg &2 &6l Gdbdl o

Increase mass flow rate through the turbine.

Options :
1.a
2.b
3.C
4.d

Question Number : 27 Question Id : 7715134402 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YR UG 210 GPa, ‘P’ 3Mgdd HR &HdEw L Tals & WY SS304L ¥ &I, HI

R &< foba1 gofl, UP il WY g1 WY & Uerd @ G UORYdl Ulid 70 GPa & 1Y

AA219 # URGldd fow o §, du1 0 AR @1 RRR 3R e R @1 R fooar o g,

dl P YR BRE &I BAIT

A circular column both ends hinged made of SS304L with modulus of Elasticity of 210

GPa, length of ‘L’ having a buckling load capacity of P. If material of the column is changed

to AA2219 with modulus of Elasticity of 70 GPa, and end condition to one end fixed and

one end hinged. Then what will be buckling load factor?

(a P (b) 6P (c) 2P/3 (d) P2
Options :
1.a
2.b
3.C
4.d



Question Number : 27 Question Id : 7715134402 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

UARRG TUId 210 GPa, ‘P’ 3{iddd HR &AM ‘L' ddly & WY SS304L ¥ &I, i
RRT 89 fohan gofl, Uh iy W 31 WY & Uerd @I gie YR UG 70 GPa & WY
AA2219 ¥ URafdd fear Sfiar g, 91 U6 AR o R 3R e MR oI R four o g,
dl P YR BRE T BAIT

A circular column both ends hinged made of SS304L with modulus of Elasticity of 210
GPa, length of ‘L’ having a buckling load capacity of P. If material of the column is changed
to AA2219 with modulus of Elasticity of 70 GPa, and end condition to one end fixed and
one end hinged. Then what will be buckling load factor?

(a) P (b) 6P (c) 2P/3 (d) P2
Options :
1.a
2.b
3.c
4.d

Question Number : 28 Question Id : 7715134403 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ead oW @1 0P &fad URY @ R-UR fR UM Y U R YR Bl gl URY &
fodl ¥ < g5l & did FgliEd 3 o 1 W[ A T g2

A fluid flows steadily through a horizontal pipe of varying diameter. Which of the
following is *not* a conserved quantity across any two sections of the pipe?

(a)
(b) Sull/Energy
(c) &® WaT/Linear momentum
(d) 7/ Velocity
Options:
1.a
2.b
3.¢
4.d

Question Number : 28 Question Id : 7715134403 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



9Cad o0E @1 U 8fdd UEU & IR-UR RR 7Y ¥ 16 ®a WE o gl U= &
oot ol & Wel & o Felid 3 o9 1P W HE R @

A fluid flows steadily through a horizontal pipe of varying diameter. Which of the
following is *not* a conserved quantity across any two sections of the pipe?

(@) moOHM/Mass
(b) &ull/Energy
(c) &P Yd*/Linear momentum
(d) 7/ Velocity
Options :
1.a
2.b
3.c
4.d

Question Number : 29 Question Id : 7715134404 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
109 &1 A1 fAsy/Her U4 od UF Bl ....... Hel ol g

Pressure vessel with ratio of mean radius/thickness less than 10 is called;

(a) dNi®d ®dd,/Thin shell

(b) W™ ®dd/Thick shell

(c) 9fd §Ri® ®dd/Ultra thin shell

(d) H®EH dRid Ddd/Moderately thin shell

Options:
1.a
2.b
3.c
4.d

Question Number : 29 Question Id : 7715134404 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



10 Y &H " Bl /Al SUadrl o 9F B ... .. .. ®el ol &l

Pressure vessel with ratio of mean radius/thickness less than 10 is called;

(a) dHRi® ®dd/Thin shell

(b) WY &dd/Thick shell

(c) 3fd @RI dad/Ultra thin shell

(d) HEH dRi® $ad/Moderately thin shell

Options :
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134405 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

I U U ufded g &1 uyH [eR &1 FUR B

Determine the first invariant of the stress matrix given below;

[50 30 20
30 -20 -10
20 —-10 10
(a) -2100
(b) -28000
(c) 40
(d) -3100
Options :
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134405 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



4 feu U ufaed sege &1 wyd FR &1 [uior &8

Determine the first invariant of the stress matrix given below:

[50 30 20
30 =20 -10
20 -10 10
(a) -2100
(b) -28000
(c) 40
(d) -3100
Options :
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134406 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fafafed ¥ ua=y gimdr uies $H-91 82

Elasticity stiffness tensor is which among the following?

(a) WYH Bif¢ UG /First order tensor
(b) f&dim ®ife ufe=/Second order tensor
(c) g ®ife Ufe=/ Third order tensor
(d) =gspife Hie=/Fourth order tensor

Options :
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134406 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fafafed ¥ yo gHiEdr uew sHE-91 82

Elasticity stiffness tensor is which among the following?

(a) UYH @If¢ UfGRI/First order tensor
(b) f&dig ®ife ufe=/Second order tensor
(c) g ®ife Ul Third order tensor
(d) dgspiic WiG=/Fourth order tensor

Options :
1.a
2.b
3.¢
4.d

Question Number : 32 Question Id : 7715134407 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

@ e Ge ¥ deady B% & fu uR @ G § B% 31 d1en R #9 Bl 8,
yfced Wgm FRS .. ... Gl

For an elliptical hole on a flat plate, if width of the hole in direction of the load decrease,
Stress Concentration Factor will

(a) @@ﬂ'\ﬁf[ncrease
(b) ®H/Decrease
(c) @R /Remains constant
(d) feiia & fea 1 9@ word ¥ we & fow i
Can’t be determined. Varies from material to material
Options :
1.a
2.b
3.C
4.d

Question Number : 32 Question Id : 7715134407 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U@ U W § deady B% & o uR @ G § B% 91 dien ofR @9 Bl 8, dl
yfcee Wgl FRS ... Gl

For an elliptical hole on a flat plate, if width of the hole in direction of the load decrease,
Stress Concentration Factor will

(2) Teitkl/Increase

(b) ®H/Decrease

(c) RR/Remains constant
(d)

Fuiva 761 fom o1 w@an oo ¥ wof & fou fim

Can’t be determined. Varies from material to material

Options :
1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715134408 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
HUHE UU Bl HEfg UU ¥ Afd ghua § Wil g, o9 eEn ... .. gl 2

Centrifugal pumps are preferable over axial pumps when the requirement is:

(a) U= fagoH/High discharge

(b) 4% =W¥/Low head

(c) 9 fausH U1 3= €i¥/Low discharge and high head
(d) il YRl W J=I G&dl/High efficiency at partial loads

Options :
1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715134408 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Audgl U H qefy vy ¥ e adiwar < ordt §, &9 amem ... .. Bidl

Centrifugal pumps are preferable over axial pumps when the requirement is:

(a) 9= fa¥ei-/High discharge

(b) g =i,/Low head

(c) T4 fawsi au1 3= 2WH/Low discharge and high head
(d) 3fiffid YRl W I <adl/High efficiency at partial loads

Options :
1.a
2.b
3.C
4.d

Question Number : 34 Question Id : 7715134409 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U O g | ... .. Bidl §/A Turn buckle has:

(a) cfgunad Ua/Right-hand thread
(b) @mIEd] Ud/Left-hand thread
(c) Up R 7 gmEdl U9 9y fawdd RR & <feonad o9
Left-hand thread on one end and right-hand thread on the opposite side

(d) P R & gmmEdl 99 a1 g R & 315 o9 e

Left-hand thread on one side and no thread on the other side

Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134409 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TS B a7 ... Bidl /A Turn buckle has;

(a) cfgomad Ua/Right-hand thread
(b) @M@dl Ud/Left-hand thread
(c) TP R ¥ awaEd 99 aur fonda fR o cféomadt o
Left-hand thread on one end and right-hand thread on the opposite side
(d) P R o JmEd] U9 a1 R R o 313 U el

Left-hand thread on one side and no thread on the other side



Options :
1.a
2.b
3.C
4.d

Question Number : 35 Question Id : 7715134410 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Thd foeeciy gordl § favreRidd, ......... @ fd I gl

Anisotropy in single crystalline materials signifies:

(a) @i fezmail & UHEAM TOEH/ Same properties in all directions.
(b) s & Fufd wmaRT & BRU fAhE fGRme # faftE e

Different properties in different directions due to a regular arrangement of atoms.
(c) CH-mrd waRn & 3@ & BRU Ter R H aRfSed

Randomness in material properties due to lack of long-range order.
(d) ¥ oReim & RO dfd &q

Increased strength due to grain boundaries.

Options :
1.a
2.b
3.C
4.d

Question Number : 35 Question Id : 7715134410 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Thd foeeciy gordl § favreRidd, ......... @ fd I gl

Anisotropy in single crystalline materials signifies:

(a) @i fezmsil & UHUAM TUH/ Same properties in all directions.
(b) sl & Fafd omaRT & BRU fAE fReme | it e

Different properties in different directions due to a regular arrangement of atoms.
(c) CH-WREf R & {E & RO Gard TUE H AefEdd

Randomness in material properties due to lack of long-range order.
(d) ¥ oReim & SRU afq §q

Increased strength due to grain boundaries.

Options:
1.a
2.b
3.c



4.d

Question Number : 36 Question Id : 7715134411 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

¥R U@ 3N dled ® 39b Bo dg & oy Yeikd o o g, @9 dR ® dH-11

If a solid propellant is stored near its triple point, which phase transition is NOT possible

directly?

@Al ¥ 319/Plasma to Solid.
o ¥ 19/Solid to Gas.

%d U T4/Liquid to Gas.

o U gd/Solid to Liquid.

Options :
1.a
2.b
3.C
4.d

Question Number : 36 Question Id : 7715134411 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

¥R Uh 31 Hled @ b HF fdg & Uy HeiRa f&ar o g, 9 dk W dH-91

If a solid propellant is stored near its triple point, which phase transition is NOT possible

directly?

WAl ¥ 319/Plasma to Solid.

a
Eb]} 39 T T19/Solid to Gas.
(c) %d ¥ "W/Liquid to Gas.
(d) B ¥ gd/Solid to Liquid.
Options :
1.a
2.b
3.C
4.d

Question Number : 37 Question Id : 7715134412 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Uqed o e InHe sfifea & fou sfifear faum (Q), dqad fRie (K) aur fisd
U6 Sl (G) D o & ay ......... o

For a chemical reaction at equilibrium, the relationship between reaction quotient (Q),
equilibrium constant (K) & Gibbs free energy (G) is:

(@) AG=0,dul/and Q =K.
(b) AG#0,dfdH/but Q=K.
(c) AG=0,dd"/but Q#K.
(d) AG TWIQ,&Hl T & YHH/AG and Q both equal zero.
Options :
1.a
2.b
3.C
4.d

Question Number : 37 Question Id : 7715134412 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Uged 4 th TumEiE e & fau e favm (Q), dqed RRRiE (K) aur fsd

Tad el (G)F a9 & Gay ... gl

For a chemical reaction at equilibrium, the relationship between reaction quotient (Q),
equilibrium constant (K) & Gibbs free energy (G) is:

(a) AG=0,du/and Q=K.
(b) AG#0,did/but Q=K.
(€) AG=0,dfd/but Q#K.
(d) AG auQ,&Hl I¥ & THH/AG and Q both equal zero.
Options :
1.a
2.b
3.C
4.d

Question Number : 38 Question Id : 7715134413 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fo1 a8 & BT U eI, e UhH H, 39 oY H $F Wel 87

In a non-reactive, adiabatic process with no external work, which of these statements is
true?

(a) 3faRk® FHull @R ¥gdl 8/Internal energy remains constant.
(b) @ﬁm f@R gdl 3/Enthalpy remains constant.
(c) U= f&R Wit &/Entropy remains constant.
(d) 7iad FHul R gl §/Kinetic energy remains constant.
Options :
1.a
2.b
3.C
4.d

Question Number : 38 Question Id : 7715134413 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fo 91 B @1 U SmidE, TS UhH H, 3 Bl § @ e 82

In a non-reactive, adiabatic process with no external work, which of these statements is
true?

(a) ofidR@ FHul f&R Edl 3/Internal energy remains constant.
(b) E[Uffﬁq f@R edl §/Enthalpy remains constant.
(c) U< f@R it &/Entropy remains constant.
(d) A el R Wl 8/Kinetic energy remains constant.
Options :
1.a
2.b
3.C
4.d

Question Number : 39 Question Id : 7715134414 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e REET W H 50% ATHHa 31 Pifc BT Adad ...... T gl

The 50% degree of reaction in an axial turbine stage implies:

a) e H 34T QU T Bl §/Half the enthalpy drop occurs in the rotor.

(

(b) WA ®1 50%, HA@HE 8/50% of the flow is supersonic.

(c) i 7@ BR TGl %fThe static pressure remains constant.

(d) 50% ®M, RS 4 ogdd gl 8/50% of work is derived from the diffuser.



Options :
1.a
2.b
3.C
4.d

Question Number : 39 Question Id : 7715134414 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g asT WU H 50% i &t difc &1 Adad .. .. .. T gl

The 50% degree of reaction in an axial turbine stage implies:

(a) TR H M1 QU UG Bl 8/Half the enthalpy drop occurs in the rotor.
(b) V4§ @ 50%, Hid@HE §/50% of the flow is supersonic.
(c) Wi gW f&R Wl 8/The static pressure remains constant.
(d) 50% @M, fouR® 4 ogdd @'cﬁ %,f 50% of work is derived from the diffuser.
Options:
1.a
2.b
3.c
4.d

Question Number : 40 Question Id : 7715134415 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Yiiss § o Y gHdH I8dl &, od Guisd ufbar ... .. BT &l

The work input to a compressor is minimum when the compression process is:

(a) gHdMl/Isothermal
(b) FGIH/Adiabatic
(c) W HgIst/Isobaric
(d) dgERIG/ Polytropic

Options :

1.a

2.b

3.C

4.d

Question Number : 40 Question Id : 7715134415 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



dfes O o Y a9 Iedl &, od Jdied ufbar ... .. HGI

The work input to a compressor is minimum when the compression process is:

(a) gHdMl/Isothermal
(b) G/ Adiabatic
(c) HHel/Isobaric

(d) ageRid, Polytropic
Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134416 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
W9 TRIGTd 9 dffd ud-sin gidl g, T &1 Uy e gen ¥ g 82

When an aerofoil is subject to increasing angles of attack, which event marks the onset of
stall?

(a) 3HfidHdIH JUTH W gt §/Maximum lift is achieved.
(b) @Y Tuid Y I Wl 3/Drag coefficient becomes zero.
(c) R Wd T yaw 0f &Y Y T Bl &

Flow separates completely from the upper surface.
(d) FuRk aur faeh Wl R g9 R0 W@ 9 g o §

Pressure distribution on the upper and lower surfaces becomes identical.

Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134416 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



o TRIGIET H dffd MUE-SI0 gl §, WHT I IRY Y e ¥ gl 82
When an aerofoil is subject to increasing angles of attack, which event marks the onset of
stall?

(a) 3fldHdH UM W gt §/Maximum lift is achieved.
(b) @Y UG I &l WA §/Drag coefficient becomes zero.
(c) FUR Wd ¥ vag Qf FY Y e gl §

Flow separates completely from the upper surface.
(d) FuR T Frad Rl R T4 TR @ T & S 8

Pressure distribution on the upper and lower surfaces becomes identical.

Options :
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134417 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R & R @ 9ol o1 &9 U for o far fnfar, fee g0 @ foodo ofcly |
QYR M1 6§l 39 959 & U SH-d uikar wed Ifad g
A gear manufacturer wants to improve the wear resistance of the gear teeth without

compromising the toughness of the gear's core. Which process would best serve this
purpose?

(a) o aFicH/Full annealing
(b) X & UYKd YA/ Carburizing followed by quenching
(c) WABET/ Cyaniding
(d) TSI/ Normalizing
Options:
1.a
2.b
3.C
4.d

Question Number : 42 Question Id : 7715134417 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



i & ®R @ FHad o &4 60 fon we ik Fwlar, MR <0 @1 fawdor wfcly 4
QR F IRl g1 39 92 o foU SH-H Ufhar 9§y Sfd B
A gear manufacturer wants to improve the wear resistance of the gear teeth without

compromising the toughness of the gear's core. Which process would best serve this
purpose?

(a) Ui 3fficH/Full annealing
(b) @I & UK A/ Carburizing followed by quenching
(c) UERIST/Cyaniding

(d) UHHESHI/Normalizing
Options :
1.a
2.b
3.¢C
4.d

Question Number : 43 Question Id : 7715134418 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

P 9 & M22x1.5-6H & &0 # Ffey foan a1 g1 Fofifad § ¥ o8 W @2

A thread is designated as M22x1.5-6H, which of the following is true?

(a) 98 gld YA & U@ &d /1t represents a metric thread
(b) dg #fidRe YA B Yfud Al /1t indicates an internal thread
(c) fi@ 1.5 Welieiex 2/Pitch is 1.5mm

(d) Gﬂ’ifﬂ Hl/All of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 43 Question Id : 7715134418 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 T & M22x1.5-6H & ¥4 ® [fdy fom mr 31 Fofcfed & 9 o9 98 @2
A thread is designated as M22x1.5-6H, which of the following is true?

(a) 98 gld YA & U@ & /1t represents a metric thread
(b) dg #fidike YA B Yhd Al /1t indicates an internal thread
(c) fi@ 1.5 fcliefiex 8/Pitch is 1.5mm

(d) Gﬂ’iﬁﬁ Hi/All of the above



Options :
1.a
2.b
3.C
4.d

Question Number : 44 Question Id : 7715134419 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ol figat & a9 sie wiew ar e W ... 3! Blgar Fyfafad T &1 oM

o ST B

When applying Bernoulli's equation between two points, the assumptions include all of the

following except:

) TR varg/Steady flow

) Hdisy Vdrg/Incompressible flow

) P UY & WAMIR Tas/Flow along a curved path

) UYU & BRU B FHul oW Tal/No energy losses due to friction

Options :
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134419 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ol figeft & 9 e wiew v T W ... 3l Bleax MEfafad wh &1 oFH

fobur o B

When applying Bernoulli's equation between two points, the assumptions include all of the
following except:

@R Wa1g/Steady flow

YUiy Warg/Incompressible flow

9% UY & GAMIR Ta/Flow along a curved path

40 & HRUI Eﬁ'{ S B gl/No energy losses due to friction

Options :
1.a
2.b
3.c
4.d



Question Number : 45 Question Id : 7715134420 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U ue soH H Ad & 55 BH ... 2

The main function of a nozzle in a jet engine is to:

(@) WA & &4 ®I dgHI/Increase the pressure of the fluid
(b) TE @& 9 B YeHI/Decrease the velocity of the fluid
(c) TN FHdl @I Tad Hul H gRafdd &1

Convert pressure energy into kinetic energy

(d) Tif® o & & fau Ra T FHell Hbra

Extract energy from the fluid to do mechanical work

Options :
1.a
2.b
3.c
4.d

Question Number : 45 Question Id : 7715134420 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U& oic 5oF H Ad & 5 SE . ... B

The main function of a nozzle in a jet engine is to:

(@) WA & & ®I dgHI/Increase the pressure of the fluid
(b) WA & & Bl YeHl/Decrease the velocity of the fluid
(c) ad ol ®i e Hui H gRafdd S

Convert pressure energy into kinetic energy

(d) TifAT od HH & o ®Ra T FHol FHorA

Extract energy from the fluid to do mechanical work

Options :
1.a
2.b
3.C
4.d

Question Number : 46 Question Id : 7715134421 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T UAEU B A ... & [uR0 & fau Iugi fedrerd g

Tensile testing is primarily used to determine:

(@) iU &d/Impact strength
(b) Uc ®I HERdI/Material hardness
(c) ol Ud 9o Y TOE, Ductility and strength properties
(d) HeldRIgu WiRiY/ Creep resistance
Options :
1.a
2.b
3.C
4.d

Question Number : 46 Question Id : 7715134421 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T WE0 B G ... D FUR & U SuEhT fedre g

Tensile testing is primarily used to determine:

(a) WY ¥d/Impact strength
(b) e @ HERdl/Material hardness
(c) ol wd §o Hasdt e /Ductility and strength properties
(d) HefaRiuur ufaRie,/ Creep resistance
Options :
1.a
2.b
3.C
4.d

Question Number : 47 Question Id : 7715134422 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fgfared TR § T & 48 & IR, TR G0 Bl TRY Har Ja8 THd
uRRufd SiH-a 82

Which of the following scenarios would most likely lead to the onset of flow separation
over an aircraft wing?

) UG- H Herdl/Decrease in angle of attack

) UREE W § ¥RY W4 /Laminar flow in the boundary layer
) Widpd ad WdUKdl/Adverse pressure gradient
)

(
(
(
(d) iy ¥&I ¥ 9ig/Increase in Reynolds number



Options :
1.a
2.b
3.C
4.d

Question Number : 47 Question Id : 7715134422 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fgfiea oRffedl & aH & 09 & $R, TR JUEERU S TRY Hak 99 G
oRfRfd S 87

Which of the following scenarios would most likely lead to the onset of flow separation
over an aircraft wing?

) UGS § Heldl/Decrease in angle of attack

) URdiE W ¥ %R WaE/Laminar flow in the boundary layer
) Widdd & UdURdl/ Adverse pressure gradient
)

a
b
C
d) iy &N ¥ gig/Increase in Reynolds number

(
(
(
(

Options :
1.a
2.b
3.C
4.d

Question Number : 48 Question Id : 7715134423 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
UF R § HEGHe U & o B9 IR &1 T aiias il 3dd &l Jbdl 87

For transonic flow in a turbine, what major aerodynamic challenge can arise?

(a) UREAT WA QYdH0/Boundary layer separation
(b) wETG T @/ Shock wave formation
(c) EHig-wefe YshHUI/Laminar-turbulent transition
(d) vt URadH/Flow reversal

Options:

1.a

2.b

3.C

4.d



Question Number : 48 Question Id : 7715134423 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W R ¥ e was & o 59 TR 3 Tor agiae g 39 8 S@d 87

For transonic flow in a turbine, what major aerodynamic challenge can arise?

(a) UREMI TR QudHI/Boundary layer separation
(b) W T8 3@/ Shock wave formation
(c)

THIT-Tef# HshAYT/ Laminar-turbulent transition
(d) A URAdH/Flow reversal
Options :
1.a
2.b
3.C
4.d

Question Number : 49 Question Id : 7715134424 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fog 7u 3UP WISt & U e & yoR @ FEfaed § o uldiRtg o g s =
50700000040 iEfiTfieY QT D = 50°0.045+0.065 firefiefiex fear Ty B

Which of the following represents the type of fit for a hole and shaft pair given that Hole

(a) el fibe/clearance fit
(b) TGP e/ interference fit
(c) HPAU e/ transition fit
(d) Gﬂ’jﬁﬂ T ¥ 33 ol 981/ None of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 49 Question Id : 7715134424 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



&g 9u 3UP ISt & v e & yoR @ FEfaed § o iRt o g B =
507000040040 firefiHiey U1 PUD = 5070.:45+0.063 firefiefieR feam T B

Which of the following represents the type of fit for a hole and shaft pair given that Hole
= 50+0.00040.040 ;ym and shaft = 50-0.043+0.065 pym?

(a) el fhe/clearance fit
(b) wfddRU flhe/interference fit
(c) FsHAY fe/transition fit
(d) Gﬂ’{[ﬂﬂ T ¥ 33 off 987/ None of the above
Options :
1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715134425 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

@ iy, WM g ¥ o g & &9 o e = ... il

In an incompressible, viscous flow, the total energy head between two points will:

(a) &HN R WAl §/Always remain constant
(b) TH WHE & R dfdd gIdT 8/Increase due to viscous effects
(c) =gH Yy & BRU ®H Bl §/Decrease due to viscous effects
(d) =gH yyd U 3R T8l 8T &/Not be affected by viscous effects
Options :
1.a
2.b
3.C
4.d

Question Number : 50 Question Id : 7715134425 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
e disy, WH wag | o fdgall & i oa S WY ... .. gifll

In an incompressible, viscous flow, the total energy head between two points will:

(a) A RR WA &/Always remain constant

(b) =g Y@ & BRU afiid g1 §/Increase due to viscous effects

(c) WM UYH[E & ®HRU $H Bl §/Decrease due to viscous effects

(d) =M UHE ¥ ™R A8l Bl §/Not be affected by viscous effects

Options:



1.a
2.b
3.c
4.d

Question Number : 51 Question Id : 7715134426 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

arpfaet | oe1 uRRUfy @1 9y 59 qw ¥ &

The Kutta condition in aerodynamics relates to which phenomenon?

(a) dUiET o URYHET Wd B G-
Formation of boundary layers on an airfoil

(b) aHuitier & fied R § war ufowy

The flow behavior at the trailing edge of an airfoil
(c) 3MEM® Wdle I &I URY
The onset of transonic flow speeds

(d) fdwica ¥ Yyl &1 f[de™
The development of vortices from wingtips
Options :
1.a
2.b
3.¢C
4.d

Question Number : 51 Question Id : 7715134426 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
agiaet ¥ $el URUd &1 96y o | ¥ 7

The Kutta condition in aerodynamics relates to which phenomenon?

(a) drguitier o oRTEr R @1 -
Formation of boundary layers on an airfoil

(b) arquitier & fisd X o wae ufawu

The flow behavior at the trailing edge of an airfoil
(c) oM@ Udle o @1 URY
The onset of transonic flow speeds

(d) fdfeu ¥ el &1 faem

The development of vortices from wingtips
Options :
1.a
2.b



3.cC
4.d

Question Number : 52 Question Id : 7715134427 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R U1 Ve Wgfd & ol TshHUIdNH WY H TdR SfYd Bdl U g iae & fau
Y TUID B AR HY Bt 87

For a smooth sphere experiencing flow in the fransitional range between laminar and
turbulent regimes, how does the drag coefficient behave?

(a) WM & R-UR &R g /It remains constant throughout the range.
(b) 3fF® IR HH H Tl Wil 3/1t suddenly jumps to a higher value.
(c) omM® fg AF # =i ot € R iR R ¥ Tedl §

It drops sharply to a low value and then gradually increases.
(d) @It oHagR SR 8/1t exhibits oscillatory behavior.

Options :
1.a
2.b
3.C
4.d

Question Number : 52 Question Id : 7715134427 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R U1 Ve Wgfd & ol TshHUIDIIH RN H TdE SfHd BRdl U §g iad & fou
Y TOd B AR Y Bl 27

For a smooth sphere experiencing flow in the fransitional range between laminar and
turbulent regimes, how does the drag coefficient behave?

(a) WM & 3R-UR &R TG /It remains constant throughout the range.
(b) 3fM® FwaR HH H Tl Wil 3/1t suddenly jumps to a higher value.
(c) oM@ Mg AF ¥ =l ol & R iR R ¥ Fedl 8

It drops sharply to a low value and then gradually increases.
(d) GIeHl o9AgR G¥idl §/1t exhibits oscillatory behavior.

Options :
1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715134428 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

WHARH, ded Wd & v Afdm-wle gHio gea? Jor JHiasu & a1l 8l v
= (U, Ux) N1 S0 T T 2D WalR &F W fGOR & el U @R 81 U o yfbea
© T3

For a non-viscous, incompressible fluid, the Navier-Stokes equation reduces to the Euler

equation. Consider a 2D flow field given by v = (U, Ux), where U is a constant. What is
the vorticity o of the flow?

(a 0 (b) U (c) -U (d) 2U
Options :
1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715134428 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WHdRH, Usd Wd & U Afdm-le gHio gedk Jor YHiosu & a8l v
= (U, Ux) §R1 R 01 TF 2D WdE &7 W @R & 981 U @R g1 vaig &t yfidar
o @37

For a non-viscous, incompressible fluid, the Navier-Stokes equation reduces to the Euler

equation. Consider a 2D flow field given by v = (U, Ux), where U is a constant. What is
the vorticity ® of the flow?

(a 0 (b) U (c) -U (d) 2U
Options :
1.a
2.b
3.c
4.d

Question Number : 54 Question Id : 7715134429 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U6 G WUC WG & SR &4 A8 H R Higw GeN 18, savien wkdm &R
b L R R R T A s gl

In the case of flow over a heated flat plate, if the Prandtl number is 1, the ratio between the
hydrodynamic boundary layer thickness and thermal boundary layer thickness is;

(@ <l
(b) >1
(c) 0
@ 1
Options :
1.a
2.b
3.c
4.d

Question Number : 54 Question Id : 7715134429 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T dild 9 A & SN &8 R H R Wew GO 1§, Gaide uhdm &R
HieTs 1 S UG WR e & 9 B 8l

In the case of flow over a heated flat plate, if the Prandtl number is 1, the ratio between the
hydrodynamic boundary layer thickness and thermal boundary layer thickness is;

(a) <l
(b) >l
(© 0
(d 1
Options:
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134430 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



IR fafif Wesl @ WHd TEdid (V) i U T €1 Hed A: 20, Hed B: 40, Hed
C: 100, Hg® D: 1401 AUHHl & AUF <o § ¥ed QR Wgd dH-4 5

Viscosity index (VI) of four different lubricants are given below. Lubricant A: 20,
Lubricant B: 40, Lubricant C: 100, Lubricant D: 140. Which is the most stable lubricant
over a wide range of temperatures

(a) WEP A/Lubricant A (b) Wed D/Lubricant D
(c) Wed C/Lubricant C (d) VI ¥ Wd4/Independent of VI

Options :
1.a
2.b
3.C
4.d

Question Number : 55 Question Id : 7715134430 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

IR fafe @gdl o |WHd Fadie (VI)Hid U T §1 Wed A: 20, WD B: 40, Hgd
C: 100, We® D: 1401 AWHH & UG o § 94 BR Wgd dH-91 &

Viscosity index (VI) of four different lubricants are given below. Lubricant A: 20,
Lubricant B: 40, Lubricant C: 100, Lubricant D: 140. Which is the most stable lubricant
over a wide range of temperatures

(a) W A/Lubricant A (b) Wed D/Lubricant D
(c) Wed C/Lubricant C OR%E] W4/ Independent of VI

Options :
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134431 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



SK W W, okie faRky ¥, fafexoll Swicw Ao & fow Swwel # W fee
WM Hdeol ol 3fd 9 a0 ® T v o

Why are sensors used in satellites for measuring the radiative heat transfer from cold dark
space at SK kept at very low temperatures?

Tded @ QA& @ & fT/to protect the sensor

a
Eb}} Uded T U 39 $9 &4 & fU/to reduce the heat loss from sensor
(c) Yded o ¥W YA T & fAT/to ensure life of sensor
(d) Gmifﬁ 03 Eﬁlﬁ i gl/none of the above
Options :
1.a
2.b
3.¢C
4.d

Question Number : 56 Question Id : 7715134431 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SK W oW, o< faRy ¥, fafeeoll Swiw A & fou 9wt # Swi feu

WHdr deal @ ofd 9 dU W ql T S g

Why are sensors used in satellites for measuring the radiative heat transfer from cold dark

space at 5K kept at very low temperatures?

Uded @l E,TTEIH W & [Austo protect the sensor
du g &H T B feTU/to reduce the heat loss from sensor

Ydew 4
Uded @1 o AT $H & e/ to ensure life of sensor
Gmiﬂﬁ i3 Ebalﬁ i 9gi/none of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 57 Question Id : 7715134432 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



o URYdl 79H Q6§ foR9dl dd REH H Sl ORT $%4 I ol § TR
HERA Uiebal I Muffedl @i & ST e

In a factory specializing in the production of high-precision machine parts, why a laser
hardening process be preferred over flame hardening?

(a) W FoRW, TR FERU T ol @
Laser hardening offers a deeper hardening depth.
(b) TR HERW Bl JyEd ARG qu WS G o ¥ §
Laser hardening can be precisely controlled and localized.
(c) am Horv, dE U ¥ fw Juged T E
Flame hardening is not suitable for ferrous metals.

(d) TR FoRW, TH I UK 7

Laser hardening is a faster process

Options :
1.a
2.b
3.c
4.d

Question Number : 57 Question Id : 7715134432 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

I URYSd AL Uol # ORIl ad BREH H Sl ®6RA B @I gol H der
BHORA Ulhal B TiEhd @ § o i

In a factory specializing in the production of high-precision machine parts, why a laser
hardening process be preferred over flame hardening?

(a) TR Poru, TR HRU T ot 2
Laser hardening offers a deeper hardening depth.
(b) TR HERU Bl JYEd BT U WS FU o Bl §
Laser hardening can be precisely controlled and localized.
(c) wam Horv, W Ui & o Juwged T ¥
Flame hardening is not suitable for ferrous metals.

(d) TR FoRW, Th o R 7

Laser hardening is a faster process

Options:
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134433 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185
WD wied [T gg gerd & TRy A & i f6e wiew @1y e o
87

Which test is used to measure a material's resistance to localized plastic deformation?

(a) #ifd TiemT/Fatigue testing
(b) widerd UdiE/ Impact testing
(c) @ARa WiEw/Hardness testing
(d) o Uieml/ Tensile testing
Options :
1.a
2.b
3.C
4.d

Question Number : 58 Question Id : 7715134433 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WG wied e gq gerd & Wiy A & i 6 wiew @1y e o

87

Which test is used to measure a material's resistance to localized plastic deformation?

(a) ifc T/ Fatigue testing
(b) fceTd TRiEU/ Impact testing
(c) @oRar WiEw/Hardness testing
(d) T U/ Tensile testing
Options:
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715134434 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YW 7H F gd a9 fobarfafy &1 gwan L. & fau foar & gl

Quick return mechanism is used in a shaper machine for;

(a) ¥uif 7fd/Rotary motion

(b) WAPFTHAT TIfd/Reciprocating motion

(c) uff ¥ WARMH 7Ifd/Rotary to reciprocating motion
(d) Gﬂﬁfﬁ b g Ebal'aF vt 49gl/None of the above



Options :
1.a
2.b
3.C
4.d

Question Number : 59 Question Id : 7715134434 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YW 7 H gd a9 fobarfafy &1 gwanT L. & fau foar & Bl

Quick return mechanism is used in a shaper machine for;

(a) guif 7Id/Rotary motion
(b) UANHAT Tfd/Reciprocating motion

(c) 9ulf ¥ WARMHAT 7Ifd/Rotary to reciprocating motion
(d) G’fﬂiﬁﬂ o & @5 o 78I/ None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 60 Question Id : 7715134435 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faqga fagsit a2 & Fafifed # fed sdeis! & 0 4 90an fu o 82

Which of the following is used as electrodes in electro discharge machining?

(a) Uidd T didl/Brass and copper

(b) IHM U1 U/ steel and aluminum

(c) SWM YUl eReA PIsizs/Steel and tungsten carbide
(d) W T/ All of the above

Options:
1.a
2.b
3.¢
4.d

Question Number : 60 Question Id : 7715134435 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



faqga fagsit a2 & Fafifed # fed sdeis! & 0 4 90an fu o 82

Which of the following is used as electrodes in electro discharge machining?

a) Uide Ul didl/Brass and copper

(

(b) ¥ U1 U/ steel and aluminum

(c) /UM Y TR Praizs/Steel and tungsten carbide
(d) Sudad T/ All of the above

Options :
1.a
2.b
3.c
4.d

Aptitude Test

PartI

Question Number : 61 Question Id : 7715134436 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0

e fom &1 dd o9 70 9 8/To which group does the following figure belong?

A
|

a N

(a) P/A

(b) @B

(c) @ A GG el Neither A or B
(

d) S SH/AL of the above

Options :

|

1.a
2.b
3.c
4.d

Question Number : 61 Question Id : 7715134436 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



ffciad fot &1 9d 659 70 9 8/To which group does the following figure belong?

(a) D/A
(b) @B
(c) @ WG GHI T8l Neither A or B
(d) ITYeR VAL of the above
Options
1.a
2.b
3.¢
4.d

Question Number : 62 Question Id : 7715134437 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



& HiarePdl & T H U0 751 g I HSR 7§ H B Fd YA U SUMIHIT 10D U HIhR
ﬁm%ﬁaﬂﬁm@ama IR AT gHH H T B 7T o7 U8 5 Tl W
SIECEU I

While working as a greeter at a large home improvement box store, a customer approaches you
and says that the customer service 1s horrible, and they will never shop at this store again. What 1s
the best thing to say to the customer?

(a) 3T T8 B o owd WG B o d1dug 317 39 TR H Uy T R R B
Tell them it 13 a busy time and that you are doing the best you can under the
circumstances.

(b) TE® T &M AT U TR o5 3¢ Aled Gl H o e e
Apologize to the customer and ask them what 1t 1s about the customer service that they

found horrible.

(c) 3Tob §X 3Hd ob feTT &1 HivTl GU DeH] H ST Gl § fob STl IR SH1U! Ugl g
S W I
Tell them you are sorry they had a bad experience, and you hope their next visit is more
enjoyable.

(d) T W5 Yl NG o FeTd &1 HITHT SR S-S GHIEN o FoTT SRy &)
Apologize for the poor customer service experience and ask them to leave an online
review.

Options :
1.a
2.b
3.cC
4.d

Question Number : 62 Question Id : 7715134437 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



& HiarePdl & T H U0 751 g I HSR 7§ H B Fd YA U SUMIHIT 10D U HIhR
ﬁmgﬁsaaﬁm@ama AR A ZT @M | R & Tl A | UU Ul O 1 Gt 9adl
SIECEU I

While working as a greeter at a large home improvement box store, a customer approaches you
and says that the customer service 1s horrible, and they will never shop at this store again. What 1s
the best thing to say to the customer?

(a) 3T T8 B o owd WG B o d1dug 317 39 TR H Uy T R R B
Tell them it 13 a busy time and that you are doing the best you can under the
circumstances.

(b) TE® T &M AT U TR o5 3¢ Aled Gl H o e e
Apologize to the customer and ask them what 1t 1s about the customer service that they

found horrible.

(c) 3Tob §X 3Hd ob feTT &1 HivTl GU DeH] H ST Gl § fob STl IR SH1U! Ugl g
S W I
Tell them you are sorry they had a bad experience, and you hope their next visit is more
enjoyable.

(d) T W5 Yl NG o FeTd &1 HITHT SR S-S GHIEN o FoTT SRy &)
Apologize for the poor customer service experience and ask them to leave an online
review.

Options :
1.a
2.b
3.cC
4.d

Question Number : 63 Question Id : 7715134438 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Ugsl: Pd/PETAL: FLOWER

(a) cIH: DT/ Pen: Paper
(b) $9H: ®R/Engine: Car
(c) fawdt: Pl/Cat: Dog
(d) @d: Wdl/Ball: Game

Options :

1.a

2.b

3.c

4.d

Question Number : 63 Question Id : 7715134438 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0

Ugsl: Jd/PETAL: FLOWER

(a) cH: DI/ Pen: Paper
(b) F9H: ®R/Engine: Car
(c) faeeit: Pdl/Cat: Dog
(d) &l : Wdl/Ball: Game

Options :
1.a
2.b
3.C
4.d

Question Number : 64 Question Id : 7715134439 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

fgdta 9% AEMS & SRF 996 T H B9 375,000 ARG AR T 3R WgEd I &
YIRE d¢ & PG 408,000 Yl TG AR M| I bl & YR W Ig 5y Fren
o wad ¢ & Rl fy wes & dRF e §9 § ol o wew § TR gl
1 U 9gd Wl Waeld el U1l Mo T 9w ey @ fowd @ Feliied |
Gy Wydl ¥ B I& Sl o2

During the Second World War, about 375,000 civilians died in the United States and about
408,000 members of the United States armed forces died overseas. On the basis of those figures,
it can be concluded that it was not much more dangerous to be overseas in the armed forces
during the Second World War than it was to stay at home as a civilian. Which of the following
would reveal most clearly the absurdity of the conclusion drawn above?

(a) a6 ¥ WIRT T 9 & 7 Yool & Sfcldl G9ad Iod § YaRd T 9
& Id el i A
Counting deaths among members of the armed forces who served in the United State in
addition to deaths among members of the armed forces serving overseas.

(b) RS U1 WA T4 b Go@ H Hd! D G & Al B HR B §a 4G
der & uldud & ®U H e Bl
Expressing the difference between the numbers of deaths among civilians and members

of the armed forces as a percentage of the total number of deaths.

() WRd 9 H Yo & GRM Guclell & ®RY §3 J @I, S b GRH oHl oAl
& BRU T3 Y G T B
Separating deaths caused by accidents during service in the armed forces from deaths

caused by combat injuries.

(d) Td@! B B YOI B qo B & aIl TS JU & guR 9ol & g @
CARGREINGRE]
Comparing death rates per thousand members of each group rather than comparing
total numbers of deaths.



Options :
1.a
2.b
3.C
4.d

Question Number : 64 Question Id : 7715134439 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

fgdta 9y AEMS & SR 996 T H B9 375,000 ARG AR T IR GE I9 &
ERA 90 & P9 408,000 Y HG AR M| G sl & MR R Tg 1y Fora
o Wda § @ fidin oy weMs & ORF T 9@ § YA 81 Wew H ARG glaR
W U 9gd W Wald gl U1l Fed T Iwjed ey @ founid @ Fefifea |
TEY Wl ¥ BH o Sl 2

During the Second World War, about 375,000 civilians died in the United States and about
408,000 members of the United States armed forces died overseas. On the basis of those figures,
it can be concluded that it was not much more dangerous to be overseas in the armed forces
during the Second World War than it was to stay at home as a civilian. Which of the following
would reveal most clearly the absurdity of the conclusion drawn above?

(a) oW ¥ YdRd U9 90 & U ol & el §gad Uod H YaRd I 99
& Tq el @1 |

Counting deaths among members of the armed forces who served in the United State in
addition to deaths among members of the armed forces serving overseas.

(b) AFRD! T Y T4 D Fel § bl D GO & 99 D AR B §d 5
e & U & ¥ H oad Bl
Expressing the difference between the numbers of deaths among civilians and members

of the armed forces as a percentage of the total number of deaths.

(c) WRE 9 H Ya & GRM Gucell & ®RY g3 Jd @I, S5 b GRH oFl oAl
& BRU B Y U e B
Separating deaths caused by accidents during service in the armed forces from deaths
caused by combat injuries.

(d) 7@ Bt Do YT B goAl B & Sl HUD 0 b TR Tedl b 9g &
Dl T B
Comparing death rates per thousand members of each group rather than comparing
total numbers of deaths.

Options :
1.a
2.b
3.c
4.d



Question Number : 65 Question Id : 7715134440 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

fafafed faeeal # 9 ‘EXODUS Vet &1 faaimr wsg gHE:
Choose one of the following options that means the opposite of the word EXODUS

(a) Influx (b) Home-coming (¢) Retum  (d) Restoration

Options :
1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715134440 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

FfifEd fadel 44 EXODUS’ Weg, &1 e wsg 9T
Choose one of the following options that means the opposite of the word EXODUS

(a) Influx (b) Home-coming (¢) Retum  (d) Restoration

Options :
1.a
2.b
3.c
4.d

Question Number : 66 Question Id : 7715134441 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Elated, despondent & foru ar _5:} Wl enli ghtened ...... & ﬁm %I

Elated 1s to despondent as enlightened 1s to .......

(a) Aware (b) Ignorant (c) Miserable (d) Tolerant

Options :
1.a
2.b
3.c
4.d

Question Number : 66 Question Id : 7715134441 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0

Elated, despondent 73 feru al E?I Sl enli ghtened ...... & ﬁ’fm %I

Elated 1s to despondent as enlightened 1s to .......

(a) Aware (b) Ignorant (c) Miserable (d) Tolerant

Options :
1.a
2.b
3.C
4.d

Question Number : 67 Question Id : 7715134442 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Y g & Fafci@d § 9 o uforiftd s
Which one will replace the question mark?

15 31 ?
27 o6 81

(a) 45 (b) 41 () 32 (d) 40

Options :
1.a
2.b
3.c
4.d

Question Number : 67 Question Id : 7715134442 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



yy forg ol FAafafad | 9 o ufawiitd sem

Which one will replace the question mark?

3 6 9
éls %31 %?
27 56 81

(a) 45 b) 41 © 32 d) 40

Options :
1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134443 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

U e fem | siftrd fraw A 9 ez & qufA dwar a2
In which direction does the gear labelled A rotate?

(a) USIHI Y3yl Bl I DI G2 H/Clockwise
(b) USI®l gyl & da- Bi [qudld fG= H/Counter-clockwise
(c) gulH =gl BdI/No rotation
(d) A 31X B &I &f Tal/Neither A nor B
Options :
1.a
2.b
3.¢C

4.d

Question Number : 68 Question Id : 7715134443 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0

fu e fem o siftrd v A 9 ez o gufF @ear 2
In which direction does the gear labelled A rotate?

(a) USIHI Y3yl Bl I DI G2 H/Clockwise
(b) USI®l gyl & da- Bi [qudld fG= H/Counter-clockwise
(c) gulH =gl BdI/No rotation
(d) A 31X B &I &f Tal/Neither A nor B
Options :
1.a
2.b
3.¢C

4.d

Question Number : 69 Question Id : 7715134444 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

feT R ¥ &gl Ted i aueH § uRadd grfl? (@fg SR 8T B dl (¢) BT 99 Be)

Where is the temperature change the highest throughout the day? (If no difference, choose (c))

A

W B
N

Water

(a) A (b) B € C (d) &I A 3R e A &/ Where Aand B met

Options:
1.a
2.b
3.c
4.d



Question Number : 69 Question Id : 7715134444 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

R o @l 9ed @ doHF ¥ uRadd grfl? (@i S T8 & dl (o) @ 95 B

Where is the temperature change the highest throughout the day? (If no difference, choose (c))

A
M B
N

Water

(a) A (b) B ) C (d) &l A 3R 8 M 8/Where Aand B met

Options :
1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134445 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



g0 & 4 Wded UG W YD TeH g5 ¢l HUD U YedHl HUS] Bi Yamid W
T g JU1 JMUD! U B & IRV SAUS H UG U II6T HSAH g1 AT DHINA!
T3 NS TR ¥ WG a0 Bedt § AR WD F T H A0S A Tl Dl
IUgd idishar I §?

You have recently been promoted to a supervisory position. One of your employees, Amanda,
has become very hitter towards you since you were promoted, and she wasn't. She is talking

bad about you to other employees and is trying to undermine you as a supervisor. What is the
least appropriate response?

(a) I Fiean Widy® &1 TaU & 3mweT g g T W e ¥ 910 B w8

Tell my immediate supervisor about the way Amanda has been talking about me

(b) ¥mUel ¥ PRl dR W 910 B¢ b 0 F cE-g AR ol draRdl U
31U F1 Tegy 9 T § aul URR @i gemml
Speak privately with Amanda, explain what you have observed and how her actions
make you feel, and try to resolve the situation.

(c) g@ﬂmmﬁ?mq%ﬁﬂaﬁmaﬂﬁ@waﬁWWMa
|

Send a company email asking everyone to be kind and not spread gossip.

(d) oMUs] & o) § oY BHARG ¥ R P AR I $¢ & d S &l a6l W
7 7 ¢l
Speak poorly of Amanda to the other employees and tell them why they shouldn't listen
to Amanda.

Options :
1.a
2.b
3.C
4.d

Question Number : 70 Question Id : 7715134445 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



g0 & 4 Wded UG W YD TeH g5 ¢l HUD U YedHl HUS] Bi Yamid W
T g JU1 JMUD! U B & IRV SAUS H UG U II6T HSAH g1 AT DHINA!
T3 NS TR ¥ WG a0 Bedt § AR WD F T H A0S A Tl Dl
IUgd idishar I §?

You have recently been promoted to a supervisory position. One of your employees, Amanda,
has become very hitter towards you since you were promoted, and she wasn't. She is talking

bad about you to other employees and is trying to undermine you as a supervisor. What is the
least appropriate response?

(a) I Fiean Widy® &1 TaU & 3mweT g g T W e ¥ 910 B w8

Tell my immediate supervisor about the way Amanda has been talking about me

(b) ¥mUel ¥ PRl dR W 910 B¢ b 0 F cE-g AR ol draRdl U
31U F1 Tegy 9 T § aul URR @i gemml
Speak privately with Amanda, explain what you have observed and how her actions
make you feel, and try to resolve the situation.

(c) g@ﬂmm&mq%ﬁﬂaﬁmaﬂﬁ@waﬁWWMa
|

Send a company email asking everyone to be kind and not spread gossip.

(d) oMUs] & o) § oY BHARG ¥ R P AR I $¢ & d S &l a6l W
7 7 ¢l
Speak poorly of Amanda to the other employees and tell them why they shouldn't listen
to Amanda.

Options :
1.a
2.b
3.C
4.d

Part Il



Question Number : 71 Question Id : 7715134446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

13,17,19, 23,29, ..... ® J@cl H 3FTc G& 1 g difeu?

What will be the next number in the series 13, 17, 19, 23, 29, .......7

(a) 31 (b) 33 () 35 (d) 37

Options :
1.a
2.b
3.c
4.d

Question Number : 71 Question Id : 7715134446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
13,17, 19, 23, 29, ...... @I 4Gl § 3T G&I 1 gHI digu?

What will be the next number in the series 13, 17, 19, 23, 29, .......7

(a) 31 (b) 33 (c) 35 (d) 37

Options :
1.a
2.b
3.c
4.d

Question Number : 72 Question Id : 7715134447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

®Y-/ Statements:
Tt ar=s ﬁ@f’ﬂ_&ﬁ Siad %HAII good athletes win.
Tl 3r=s ﬁ@fﬂ_&ﬁ WHI 331 @id &/All good athletes eat well.
fHY / Conclusions:
(i) G 331 @Har 9, oy faasl Bid 8l
All those who eat well are good athletes.

(i)  ©iigd drd T4, WHET A= Wid & /All those who win eat well

(a) &ad sy (i) Tgl %;’Dn!y conclusion (i) follows
(b) ad MY (i) W&l §/0nly conclusion (ii) follows
(c) (i) 4T (i), Tel iE:‘;"E'lt}'nta.-r{i} or (ii) follows

(d) (i) 4t (i), Gl Wel d8! §/Neither (i) nor (ii) follows



Options :
1.a
2.b
3.C
4.d

Question Number : 72 Question Id : 7715134447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&Y/ Statements:

il =8 ﬁ@?ﬂ_&ﬁ Siad %HAII good athletes win.

ol 3y ﬁ@?ﬂ_&ﬁ G 3= @id /Al good athletes eat well.
f%HY / Conclusions:

(i) GHI 33 WHA 9, o=y fEarst Bid ¢
All those who eat well are good athletes.

(i)  ©iigd 9 9, @HT =¥ WA §/All those who win eat well

(a) N (i) Tel %;’Dnly conclusion (i) follows
(b) @ad fpd (i) TEl 2/0nly conclusion (ii) follows
(c) (i) AT (ii), Wel ©/Either (i) or (i) follows
(d) (i) TT (i), Sl S G &/Neither (i) nor (i) follows
Options :
1.a
2.b
3.C
4.d

Question Number : 73 Question Id : 7715134448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T § 999 S19-91 8/'Which tigure 1s odd one out?

0 ‘ =
 —|
0 wp I =
A B C D E
(@ A ®) B ¢ € (@D
Options :

1.a



2.b
3.¢C
4.d

Question Number : 73 Question Id : 7715134448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T § 499 $19-91 8/'Which figure 1s odd one out?

— — - —
I ‘ =
10 o [ =
A B C D E
(@ A (b) B © C (@D

Options :
1.a
2.b
3.C
4.d

Question Number : 74 Question Id : 7715134449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1,2,3,10, —— @I Ja@a1 § 3T T& @1 gl Mg

Which number should come next in the series 1, 2, 3,10,
(a) 79 (b) 99 (c) 89 (d) 98
Options :
1.a
2.b

3.cC
4.d

Question Number : 74 Question Id : 7715134449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



1,2,3,10, -- @I Ja@a # ST G @ il aifgee

Which number should come next in the series 1, 2, 3, 10,
(a) 79 (b) 99 {c) 89 (d) 98

Options :
1.a
2.b
3.c
4.d

Question Number : 75 Question Id : 7715134450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@Y/ Statements:
P9 GAMUd HHT BRI BId §/Some dedicated souls are angels.
gyl 9919 Udd BRE Eﬂﬂ ;E:":’AII social workers are angels.

ﬁﬁ)‘éﬁ(ﬁonc!usions:
(i) L) Hitg AN, IO Uqd Eﬁ?l %;’SGme dedicated souls are social
workers.

(i) P9 TV Y9& AT ST Bl &/Some social workers are dedicated souls

(a) daq ey (i) Tl %;’On!y conclusion (i) follows
(b) Had ey (i) W8l %fﬂnlv eonclusion (i) follows
(c) () @ (i), T&Y B/Either (i) or (i) follows

(d) (i) 3 (i), S &1 T B/ Neither (i) nor ii) follows

Options :
1.a
2.b
3.C
4.d

Question Number : 75 Question Id : 7715134450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



@Y/ Statements:

P YA AN BRI B §/Some dedicated souls are angels.
gl I9e Y9 BRE Eﬂ?l ?:"IAII social workers are angels.

ﬁﬁl—ﬁfmmclusions:
(i) i) At AN, IO Uad Eﬁ?l %fSome dedicated souls are social
workers.

(i) 99 THW H9H GHMD AT d &/Some social workers are dedicated souls

(a) daq Ty (i) Tl %;’Onlv conclusion (i) follows
(b) %dd Y (i) TS &/0nly eonclusion (ii) follows
(c) (i) &I (ii), Tl &/Either (i) or (ii) follows

(d) (i) T (i), GHT Fer ol &/Neither (i) nor (ii) follows

Options :
1.a
2.b
3.c
4.d

Descriptive



Question Number : 76 Question Id : 7715134451 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

0 Joe gk, 37 Rwmet 7 onfve g ddfeor AR 9 fiog-afie 9% 3
W W O R W IR G omEld ae O R et F ddfer it @
FyRur e o Webdr g1 Fefifed fo d w@ Ud A o ewi-R @i g, au i
o a, b, ¢ B T4 F fagld Eh a1, i @1 oMSeqe WeW oyl W@ ofmEN &
GRM Tg oWl T § & ca= 1000 e, £b=2000 ps, T4 £c= 4000 pel I8 fapla weal,
€X, gy, £xy @1 R B

A rosette strain gauge is an electromechanical device that can measure relative surface
elongations in three directions. Bonding such a device to the surface of a structure allows
the determination of elongational strains in particular directions. A schematic of one such
gauge is shown in the following figure, and the output of the device will provide data on the
strains along the gauge arms a, b, and c. During one application, it is found that ga= 1000

ue, eb= 2000 pe, and ec= 4000 ps. Calculate the surface strain components £x, gy, £xy.

Question Number : 76 Question Id : 7715134451 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5



0 Joe gk, 37 Rwmet 7 onfve g ddfeor AR 9 fiog-afie 9% 3
W W O R W IR G omEld ae O R et F ddfer it @
FyRur e o Webdr g1 Fefifed fo d w@ Ud A o ewi-R @i g, au i
o a, b, ¢ B T4 F fagld Eh a1, i @1 oMSeqe WeW oyl W@ ofmEN &
GRM Tg oWl T § & ca= 1000 e, £b=2000 ps, T4 £c= 4000 pel I8 fapla weal,
€X, gy, £xy @1 R B

A rosette strain gauge is an electromechanical device that can measure relative surface
elongations in three directions. Bonding such a device to the surface of a structure allows
the determination of elongational strains in particular directions. A schematic of one such
gauge is shown in the following figure, and the output of the device will provide data on the
strains along the gauge arms a, b, and c. During one application, it is found that ga= 1000

ue, eb= 2000 pe, and ec= 4000 ps. Calculate the surface strain components £x, gy, £xy.
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fo & U 3OR TR YR & 9H WGOR fRUUS AB @1 Ul (a)A W 3w @
PRI @2, (b) IR T B FHERY [P, (c)A R e @ FURT & (Fe Ale B
f5 fovoge, Ued BIf W Widda: HHEd §)

Consider the uniform beam AB under distributed load as shown in the figure (a) determine
the reaction at A, (b) derive the equation of the elastic curve, (c) determine the slope at A.
(Note that the beam is statically indeterminate to the first degree.)
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fo & U 3OR TR YR & 36H WGOR fRUYS AB @1 ¥l (a)A W fhar @
FYRT @2, (b) TR T &1 FHERY [P, (c)A R g @ FURT B (T8 Al B
f fHRUGd, Ued @it R Widdba: AR §)

Consider the uniform beam AB under distributed load as shown in the figure (a) determine
the reaction at A, (b) derive the equation of the elastic curve, (c) determine the slope at A.
(Note that the beam is statically indeterminate to the first degree. )
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U6 39 AOAOR R & 919 B = 132 fefifier qu oy uRwfiid &7 A= 1000
i firefiefier qor TeRES h=24 el €1 R URwe ol dsd aul IeRiA Hy & di
PGl ‘e’ @ FURT B AH o b 99 W g I 9% Al 2000N.m €, HHaH qul
A Wded @& UREed @4 (In 1.0=0, Inl.1=0.095, In 1.2=0.182, In 1.3=0.262, In
1.4=0.336)

A curved rectangular bar has a mean radius r’ = 132 mm and a cross section of area A =
1000 Square mm and depth h =24 mm. Determine the distance ‘e’ between the centroid and
the neutral axis of the cross section. Assuming that bending moment acting on it is 2000N.m,
calculate the maximum and minimum stress.

(In 1.0=0, In1.1=0.095, In 1.2=0.182, In 1.3=0.262, In 1.4=0.336)
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U6 9% SWAeR R @1 A1 B = 132 Tl aur oy TiResfid 87 A= 1000
il fieiidiex quT TTERE h=24 fRidieX 81 oy UR=E @ dad Ul JGRIH & & a
B gl ‘o' @ MR B UH o 5 39 W g W a6 g0l 2000N.m g, HHdH qul
-dH uiEa & IR B (In 1.0=0, In1.1=0.095, In 1.2=0.182, In 1.3=0.262, In
1.4=0.336)

A curved rectangular bar has a mean radius r’ = 132 mm and a cross section of area A =
1000 Square mm and depth h = 24 mm. Determine the distance ‘e’ between the centroid and
the neutral axis of the cross section. Assuming that bending moment acting on it is 2000N.m,
calculate the maximum and minimum stress.

(In 1.0=0, In1.1=0.095, In 1.2=0.182, In 1.3=0.262, In 1.4=0.336)
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o ST URwE 20x20 Peifier & U UF 1.6 Wi} o, dacl-4 el Rl HieR 1.0
fefidier § W fdaR &Y PR STacH-dIv &1 10° d i b o 5, o uRwie &Rl
dgd U IHar UedH d0 gu & FYRT S e 99 g @I 9H W
HIBIH SHUEY Yidea FI G Uerd P G= 80 GPa

Consider a thin walled 1.6 m long tube with square cross section 20x20 mm having wall
thickness of 1.0mm. Determine the maximum torque which can be carried by the section if

angle of twist is limited to 10°. What will be the maximum shear stress when this maximum
torque is applied? Material with G= 80 GPa
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& SR TRwE 20x20 iR & Iy TF 1.6 HieR dal, Tae-Ui ol ol A 1.0
iR § W fdaR &1 R ad-am &1 10° 9 WHd foar o 3, @ tRwe gr
dg1 U JIHa fiean §a omgn & RuRe $ fiee &9 gl @I 9H W
HfHIH HUEUW Yided T E? U &1 G=80 GPa

Consider a thin walled 1.6 m long tube with square cross section 20x20 mm having wall
thickness of 1.0mm. Determine the maximum torque which can be carried by the section if
angle of twist s limited to 10°. What will be the maximum shear stress when this maximum
torque is applied? Material with G= 80 GPa
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quig Rfdiet & fau iq & o qu WIS dU B @Mles engh @1 HeRo @)
ffdie @1 gemF, 100 fodum & aur g oRymw Bw, 0.l di 81 fisA @1 WR
200N 8l To@ U = 10 m/s2 G973 I

N
D;=02m; D, =04m; K; = 8005; K, =1000 N/m

Determine the equation of motion and natural frequency of torsional vibration for the
stepped cylinder. Mass of the cylinder is 100 kg and its radius of gyration is 0.1 m. Weight
of body A is 200 N. Take acceleration due to gravity = 10 m/s2. Also

N
Dy =02m; Dy = 04m; Ky =800 —; K, = 1000N/m
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quig Rfdiet & fau iq & o qu WIS dU B @Mles engh @1 HeRo @)
ffdie @1 gemF, 100 fodum & aur g oRymw Bw, 0.l di 81 fisA @1 WR
200N 8l To@ U = 10 m/s2 G973 I

N
D;=02m; D, =04m; K; = 8005; K, =1000 N/m

Determine the equation of motion and natural frequency of torsional vibration for the
stepped cylinder. Mass of the cylinder is 100 kg and its radius of gyration is 0.1 m. Weight
of body A is 200 N. Take acceleration due to gravity = 10 m/s2. Also

N
Dy =02m; Dy = 04m; Ky =800 —; K, = 1000N/m






